Class:10th

TotalMarks..... Time:....
Test:Biology

Attempt ......... questions

! The male reproductive part of flower is: -2 Sals? 6%
(a) Stigma (b) Stamen (a) (& (b) u‘f/
(c) Ovary (d) Carpet (©) Sl @ S

2 Reproduction method in Rhizopus is: S‘L/:J?.’Q P
(a) Binary fission (b) Budding @) uy ¢ //L (b) jj‘

(c) Spore formation (d) Parthenogenesis

3 In how many days embryo develops to offspring
in rabbit?
(a) 30-40 days (b) 20-30 days
(c) 30-32 days (d) 25-30 days

4 In which type of the following reproduction
ways, buds are formed.

(a) Regeneration (b) Fragmentation

(c) Budding (d) Binary fission

> Every ripened ovary is called:

(a) Sperm (b) Seed

(c) Egg (d) Fruit
6 The unit of Androceium is:

(a) Gametes (b) Pollen graing

(c) Anther (d) Staments

" The method used for the cultivation of sugar
cane is:
(a) Cutting
(c) Layering

(b) Grafting

(d) Spores

8 Flower of which plant is pollinated by wind:
(a) rose (b) Sunflower

(c) Grass (d) Butter cup
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